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Which State of the Matsya Union was willing to be integrated in UP on the basis of
referendum (Majority Vote by Public) ? _

{A) Bharatpur (B) Karauli

{C) Dholpur . (D) Alwar
WWWWWWW%W% Wwwﬁsﬁsm&xﬁwﬁﬁﬁﬂw%mﬁﬂﬂ

g7 ?
(A) W@ (B) =t
(C) gy (D) st

After the conquest of Chittor by Akbar, the coins issued ’tw the Mughal rulers were
known as ~

(A) Drumm (B) Sikka Elehi

{C) Chittor: : (D} Dinar
Wﬁﬁﬁﬁgﬁmﬁ%wmﬁwsm%ﬁaﬁwﬁg& fr
DE[ i 41 |
(A) 39

(C) Ty

(B) Tyemst wersl
(D) MR

Who among the following wrote "Jivan Kutir Ke geet" ?,

(A} Jainarayan Vyas (BY Hiralal Shastri

 (C) Gokul Bhai Bhatt (D) Haribhau Upadhyaya
‘g A F N P ¥ ¥ Read g R mr 7 |

(A) TR T (B) ER@ETE SR

(C) Tige WK «E (D) wfwrss swwrs

Who was the first woman parliamentarian of Rajasthan ?
(A) Yashoda Devi (B) Sushila Bangaru
(C) Sharda Bhargava (D) Vidya Pathak
TR & Jod giee wEe a?rﬁ' a7 |
(A) TaeT &

(C) srEr Wi

(B) gshenr &
(D) faen wos

Karna Bhil was the famous player of which instrument ?

{A) Nada (B) Morchang -

(C) Satara (D) Karna
g W Rew aw b i A o ?

(A) 8 | (B) wrE

(C) =T (Dy woom

| P.T.O.

Es4] & | | 2

6 The site of Bagore lay on river in district Bhilwara. -
(A) Luni (B) Kothari
{(C) Banas (D) Chambal
Hroars! fae i w4 wT g Rug ¥ o
(A) o . ®) =
() T - | Dy =«
7  Who among the following was the composer of Eklinga Inscription (1460 A.D) 7
(A) Maheswara (B) Jagganath Rai
{C) Rana Kumbha _ - (D) Jagat Singh
Prerfafaa ¥ & wwi fraerg (1460 §) & d@F § 7
(A) WEYEX (B) W T
' (C) T T (D) W R
&  Which one of the followmg Pratihar rulers changed the capital from Mandgre 1o
Merta 7
(A) Harishchandra (B) Nagbhatta 1
(Cy Vatsaraj (D) Dev Raj -,
Prerffas wfreTe el ¥ ¥ Rewd HOSR &) aawet deal w TwHE T 7
(A) zhoas (B) =TTHE wuH
(C) Tm@uw (D) @ =
Which ruler of Jaipur constantly served the three Mughal emperors - Jahangir,
Shahjahan and Aurangzeb ?
(A) Man Singh (B) Ram Singh
(C) Mirza Raja Jai Singh (D) Sawai Jai Singh
YT & g e ¥ wman 99 qO wHel - SEei, amesel ol aﬁmﬁaa‘o’r@me@r ?
. (A) A fHE ‘ (B) ™ fis
(C) fhat wom wra Ris D) wag w1 s
10 In which region are the Ratvai folk songs sung ?
(A) Mewar (B) Marwar : R
(C) Mewat (D) Hadoti
T e W fhE @ ¥ g Gﬂ?{ g7
(A) wa= (B) @i
(C) ¥ D) =&
ES4 ] () .3 [ PT.O.



11 Who bui : IR
10 buiit the Hawamahal at Jaipur ? : 16 Who painted the famous 'Bani-Thani' painting ?

(A) Sawai Jai Singh (B) Sawai Pratap Singh - [ (A) Sahibdin (B) Gopiram
(C) Sawai Madhosingh I (D) Maharaja Ishwar Sit.}gh: : , . (C) Nagridas | (D) Nihalchand
(A) ward wg Rie | (B) WW% (A) wigem (B) TdrE
(©) warg Wﬁﬁfﬁ‘s’. TR () werew §$HT ﬁﬁ ©) 3“555313 o ‘ (D) Ty
' : ' ' 17 Which of the following pair is wrongly matched ?
12 :f)llc; ;faiﬁzsfillo;v;ng mention the date of thc foundanon of Jodhpur and Jalpur 7 (A). Pabuji - Kolu . | : }(B) Tejaji - 'I'{hamai |
yat o (B) Bankidas Ki Khyat . : (C) Mallinath - Gagron (D) Ramdeviji - Ramdevra
(C) Nensi Ki Khyat (D) Eklinga Inscr1pt10n o : o fer & ¥ BT @ T TG gEeR ¢ 7 ‘
Preafo ¥ & Fr g o oy @Y e R w2 ) - (B) Fweh - @
(A) TUwEE @ e (B aﬁwﬁm L (€)Y — TR (D) TFREs - TEREl
(©) At & o @) e S
o L i8 'Katargarh' is a part of which fort 7
TR (A) Jodhpur - (B) Gagron
13 xl)m :;S;l:) iul Dev1 (Clan .godd_ess) of the Rathore dynas;y 9. = o | (C) Achaligarh (D) Kumbhalgarh
: = (B) Shakambhari S R = wereTe e 3 A T 7
(C) Nagnecth ' ' (D) Bijasan o :_ . . | (A) Eﬁﬂg{' . | (B) TRTTIOT \,
T[Eﬁg K{GCE aﬁ- W&'Eﬁ‘ gﬁ:[ T > e o - -. | ..: o | (C) SRTE 4 ) . -
(A) 3nstraTen B) e R SR e N | .
©) mw%zhrrﬁ (D) Eﬁw L 19  Who built the Diwan-i-Aam in the Amber palace ?
_ o e o (A) Raja Bhagwandas (B) Raja Man Singh
14 The compositions of peet sur}’amal Mlsran are in which Ianguagé ? : - ©) Mirza'Raja Jai Singh (D) Maharaja Sawai Jai Singh
(A) Hadoti - -~ . ... (B) Dhundhari e ; ST et 3 Ao A Bt e { . |
(C) Mewari = O ©) Mawai (A) TS ST (B) Tom wAREE
af g rmn 4 T fo o A % e (©) Tt Trt it (D) R W ST
(4) BRI SRR (B) @‘a R SR 20 'Kangad Kand is related to which peasant movement ?
©) ﬁ'éﬂl?ﬁ o (D) wEET D (A) Peasant Movement of Shekhawati Area

(B) Peasant Movement of Jodhpur State
(C) Peasant Movement of Bundi State

15  Where is the famous Chandra Bhaga fair held ? :
(D) Peasant Movement of Bikaner State

(A) Bundi SR . (B) Pushkar _ e HUS F gy fhy fpEW erdEE ¥ 7 '
(C) Kesho Rai Patan. (D) Jhalra Patan . : - (A)‘ﬁr@w@%ﬁm%ﬂ CIEARE] | | |
THAR 1 GRS e wet @ 7 R A i (B) whege TS % fREE arie

®) O ® T (O 3 T e e

(€) Hyrra qr= (D) s Ured B S | (D) demr o @l fEem e
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23

24

25

(C) sty

Where did the first revolt break out in 1857 in Rajast}ian 7
(A) Nasirabad {B) Neemuch

(C) Mount Abu (D) Abuwa
- T ¥ 1857 % vear s @l gon 7

(A) ErTEE (B) e

(€) T sy (D) emgan

Who was Siddhraj Dhaddha ?
(A) Scholar of Jainism

(C) Diplomat

et esgr A & 7

(A) et & g

(C) et

(D) Great Educationist

(D) wer finemelt

'Kumbh Shyam Mandir’ - is located in which fort 2"

{A) Chittorgarh fort (B} Amber fort
(C) Kumbhalgarh fort (D) Achalgarh fort
F-9UT T e fed B Rug ¥ ¢
(A) Rrdree fam

(C) Fwerms fober

(B) s feper
(D) srgerg T

'Kamadiya Panth' was established by -

(A) Ramdevji (B) Kallaji -

(€) Pabuji (D) Gogaji
wEie qu W W R A A P S
(A) TR (B) wwa

(D) vl

Which Sabha was founded by Govind Giri ? _
(A) Dharma Sabha (B) Bhil Sabha
(C) Raj Sabha (D) Samp Sabha
Mg fift ¥ few gar @& e & 7
(A) = =W

(CO) Tw aw

(B) e wwr
(D) W g

E54 ) | 6

(B) it o et e

(B) Gandhian and Sarvodaya Leade

[ PT.O.

- 26 Rathi breed is a cross breed of which two cow breeds ?

(A) Sindhi and Malvi (B) Sindhi and Sahiwal
(C) Sahiwal and Malvi (D) Malvi and Nagauri
T v A W R T A e gy ¥ 7 |

(A) Rify 5w - (B) by 7 aREm

(©) wiarw @ W (D) W @ A

27 'Bhéwaﬂiméndi' Railway station is sit'uated on the border of Rajasthan and

(A) Punjab (B) Madhya Pradesh
(C) Haryana (D) Uttar Pradesh

TR 4 S g g a2 Raa ¥
(A) Yo (B) .wed way

(C) e D) T R’

28 Which river is not included in inland drainage system of Rajasthan 7
(A) Western Banas river (B) Ruparel river |
(C) Saabi river | (D) Kakni river
TERAT & o T G o A A @ et oy 2

(A) ufyadr s Wi (B) wur@ &
©) = =@ (D) st
29 North to South length of Rajasthan State is kms.
TR R B IR F afe e : fordt & 1
(A) 826 | (B) 362
(C) 822 (D) 869

30 Out of the following which district receives highest rainfall ?

(A) Jodhpur (B} Ajmer
(C) Bikaner - (D) Sikar )
fptaiaa Pl & 9 fp e & ofusan aui skir & 7
(A) sige | (B) &
(C) S (D) &t
| 'E54] @ | | ~ i PT.0.



31 Area of Rajasthan is - L : ‘
o 36 Which of the following region of Rajasthan is facing the probiem of Ravine Land ?

Qe R
02, sq. km. :
ey Su—— | | - R (C) Ghagghar (D) Banganga
(A) 442230 = B B) 432,329 fah C TR @ Prehed § @ @ @ m des iy @ wwen @ aRe ¥ 7
(©) 342,239 =t fort D) 3.62 SRR () T B) =
42, : ) 3,62,929 = fd, o (C) =y (D) arrm
32 Ancient name of Udaipur state was - D [ 37  Which of the following is used to treat constipation ?
(A) Jangal Desh | (B) Kuru Desh . 8 ‘. -' (A) Castor oil (B) Kattha
(C) Shivi SRR (D) Yodheye Con (C) Henna (D) Dhak
TEAGT T AT GG T A | o | | Preffie % & Rewst wdr a S Bt § T s ¥ 7
(A) Wi W o ®) et A - (A) orCvEr e (B) wem
(€ Ty D dRs (O W (D) ¥
33 In Tilwara of Barmer R ﬁ{,er meets with Luni river. 38 In Rajasthan Tendu leaves are mainly used is manufacturing of -
(A) Mitri R (B) Jawai (A) Oils | - (B) Bidis
(C) Sukari 5 (D) Mahi - (C) Henna ' (D} Dye
T 3 Rowarer & o @ & e PmdrE Wﬁ%@ﬁm@ﬁﬂg@ﬁmﬁﬁw%%ﬁm%?
(A) Tt | - '(B) - (A) @ (B) <
(©) Tws | o (D) mé’r (C) #ear D) @
34 Kharl river orlgmates from the hills of E e ' ‘.filfa'ge. ndﬁﬁ .of Rajsamand 39 Toégarh Rawli wildlife sanctuary, is_ situated in which of the- following region of
‘district. S L _ - - Rajasthan ?
(A) Aamna | (B)' 'Baéot’a' - SR - (A) Ajmer - Jaipur - Sikar (B) A{mer - Jalpl:ll‘ - Pah' ‘
(C) B asani'? | o ) Bgral - - _ (C). ‘Ajmer - Pali - Rajsamand (D) Ajmer - Udaipur - Sirohi
T . A & were & R i o8 et & s 3 e TR G ST T % Fyeatan ¥ ¥ few d W R ® 7
(A) s | (B)mT-_ i C () e R A (B) ST - WYL - AW
G SR S (C) SrHT — Uy — THETS (D) amFY -~ JeayR -~ R
(C) * arEh , (D) frrow - ‘
| _ . ‘ o o o _ 46 'Glue ‘Bab'y Syndrome' is related to the pollution of which of the following category
35  As per Koppen's classification, Jaisalmer and westem-parts of Bika’ne'r'are having of pollutants ?
which of the following category of climate ? ' (A). Chlorides N _ (B) Chromates \
FR T B FTER ST T SRR ¥ R Wﬁﬁwﬁ#@aﬁ@rﬁmmﬁ b (C) Sulphates (D) Nitrates.
Ay ¥ 7 | - Pt & & wquat @1 fea Sl ey w0 R WE 7
(A) Bwhw ® Cwg | S (A) wEE (B) ®HLE
(©) Aw . - ®) Bshw . (©) weRE | (D) TEEEE

ES4] o . o
%, 8 [ PTO. Bse] O 9 | [ PT.0.




41 Which of the following natural disaster is not presénﬂy related to Rajasthan ?
(A) Earthquake (B) Flood
(C) Drought (D) Tsunamis
T B A A fetaie § @ @ @ wehe o @ wew @ & 7
A) T B) |
(C) D) Hfﬂ‘ff
42 In Rajasthan which of the following fruit is produced mamiy by Sll‘()hl dtstnct ?
(A) Anars (B) Cheeku
(C) Malta (D) ‘Mango
ﬁﬁ%ﬁﬁéﬁwmwwﬁg@a W%ﬁmwﬁamw% ?
(A) e (B) g
(C) ww D) o™
43 Live stock Researc;h Station, Kodamdesar is located in -
(A) Jaipur (B) Jaisalmer
(C) Bikaner _ (D) Tonk
wy G S, BeET Rud ¥ - B
(A) syt H (B) Srowt §
() e § O) dHE
44 Which irrigation project is not built in Jhalawar district ?
(A) B.heem sagar (B) Sawan Bhadon project
(C) Chhapi project (D) Harishchandra sagaf
werers R ¥ B @ afedor @t w8 R w2
(A) i FTT (B) wrEa-+E) ufEiemr
(C) wrd ferorT (D) wherrs Qe
45 Mahi-Bajaj Sagar dam is situated in which of the following district ?
(A) Bhilwara | (B) Banswara
(C) Kota , (D) Jalore
Hﬁ%wwwﬁﬂﬁffﬁgﬁﬁ@ﬁmﬁrﬁﬁﬁw% ?
(A) et (B) sfgars
(©) B (D) i
ES4 | %) : 10 [ P.T.O.

46

47

What is the new number of Delhi-Jaipur-Chittorgarh national highway 7
frre—srg-Rrdreme iy Temnt w1 T e o 7

(A) N.H.-62 (B) N.H.-82

(Cy N.H.-48 - () N.H.-68

Sabla Loharia Area of mining is situated in which of the following district 7
(A) Bhilwara (B) Dausa

(O Barmer _ (D) Dungarpur
aa-AEE @ & fefalea § 9 fow e § Rea § 7
(A) st (B)
(C) i (D) gTge
48 Which one of the following district is not situated in sub-humid southern plain agro-
climatic zone ? |
(A) Udaipur (B) Rajsamand
(C) Dungarpur (D) Bhilwara
'. ﬁwﬁaﬁﬁﬁﬂmﬁwm—mwﬁﬁﬁmq&sﬁﬁ%ﬁ% 7
(A) TEEgl (B) TwwHER
(C) Y (D) st
49 In which one of the folllowing institutes, "Desertification / land degradation Atlas’ of
ISRO (SAC), Ahmedabad' was released on 17 June, 2016 ?. -
o ¥ fE gwE ¥ sad (§) omAag ¥ 17 97, 2016 & AEWHT T SR
wead @i fodaT e g 7 : |
(A) CAZRI (B) AFRI
(C) NATMO (D) DST Raj.
50 Which region is highly prone to earthquake in Rajasthan ?
(A) Ganganagar - Hanumangarh and Churu
(B) Bharatpur - Alwar and Jhunjhunu
(C) Jaipur - Dausa and Karauli
(D)' ‘Nagaur - Jodhpur and Pali
T § AR e wen A w7 *
(A) TR - FJAMTIE T g
(B) w@YT - @A o m
(C) wage — dar g Sl
(D) iR ~ SEgT 9w
"Es4 ] I | 11 [ P.T.O.



51

52

What is the force between two small charged spheres havmg charces of 2x 1077 C
and 3 x 107 C placed 30 cm apart in air ? ‘

ag ¥ @ g ¥ 30 o g w o d R omRw et maEse 2 ¢ 107 C e
3x 1077 C o ¥ 1 w% 9 foow aw &7

(A) 6 x 1073 N B) 7x103N

(C) 8x103N D) 5x 103N

Coullomb force and gravitational force follow the same
(A) Ohm's law
(C) Inverse - square law’

(B) Ampere’_s law
(D) Kirchoff's law

I I QAT R g6 g & U B §
(A) & @1 fram | (B) et 71 fem
(C) gera it @ Frm (D) R a1 Frw

53

54

S5

E54 | () | 1

A network having one or more than one source of emf is known as -
(A) Passive network (B) Active network -

(C) Linear network (D) Non-linéar network

T A U U i Reaarns aw@ (emf) W6l ¥ g9 W weew ¥ -

(A) ™ifspa wre (B) wfpa w1

(C) e o (D) I e

Two resistances R, and R, give combined resistance of 450 when connected in
series and 1.0 Q when connected in paraliel The res1stances are -

(A) 3Q and 4 Q ® 3Qand9Q o

©) 15Qad3Q (D) ISQandOSQ

a‘ruﬁ]ﬁ%ﬁRt aqumavﬁmaﬁmﬁwuﬁfﬁa 4.5 Q amwwmﬁmﬁgm
g 1.0 Q ¥ 1 & ofmg @ -

(A) 3Q 740 (B) '3'.(2699-._

© 15Qa3Q @) 15QT05Q
The resistance of a 100 W, 200 V lamp is -

% 100 W, 200 V& @ wferdg & -

(A) 100 Q (B) 200Q

(C) 400 Q - (D) 1600 Q

[ P.T.O.

S (A) Conduetivity

57

! , .
R=p- VE In this equation p represents .

(B) Mobility

(C) Resistivity (D) Velocity

R=p- “,Sﬁaﬁwﬁpwﬁiﬁm%—

(B} nﬁ-rsﬂam
(DY &

(A) =T
(C) srf%rﬁaarcﬂ

The storé"ge battery of a car has an emf of 12 V. If the internal resistance of the battery
is 0.4 Q, what is maximum current that can be drawn from the Battery ?

et B Y S S0 o R aed @ 12 V E | AR d2h & sanes uiiy 0.4 Q

o, @ deh A & W Tl e o @ WE F § 7

T(A) 50 A
(C) 32A

58

(B) 28 A
(D) 30 A

Three 3 Q resistors are connected to form a Triangle. What is the resistance between
any two corners of the triangle ?

3Q A F AN TRy ww B S o A g gu aﬁﬁﬁ%%ﬁaﬁﬁ%mw
gi%rﬁa*@rm?

3
(A) 7 Q (B) 3Q
4 Q
) 20 : : (D) 3
59 Whlch of the followmg lamps will have least resistance at room temperature ?
fret & 4 &9 § A9 B BAY & qomd 9T Fram aRkede gm0
(A) 200 W, 220V (B) 100 W, 220 V
(C) 60 W, 220V (D) 25 W, 220 \%
60 Three resistors 2 Q, 4 Q and 5 Q are combmed in parallel. What is the total resistance
~ of the combination ? ?
20, 4Q o7 5 Q % A uRrdy wid ¥ e ¥ 1 T @ gE Sy w2y e g
18 : 20
— L)
(A) -5 ¢ B) T3
19 ' 20
— — Q
E54 )] () 13 [ PT.O.



61

62

03

64

63

ES4 ] () | 14

What is the unit of specific resistance of a substance ?

(A) ohm (B) - mho

(Cy ohm-cm (DY ohm/cm

fooelt ward % fafre oRder & sor W ¥ 7

(A) ofm (B) =i

(C€) omm-Bel (D) /ey

The resistance of a uniform metallic conductor is d;rectly proporllonai to 1ts
(A) Mass (B) Length _

(C) Width (D) Height o
feel oy % UF @O awes @ ke ésaagw{rgcn?‘i’ra‘rar%:.._
(A) sopm (B) W&

(©) aﬁgr% (©) St

100 resistors of 100 Q each are connected in parallel. Their equivalant resmtance will
be -

100 Q@ % 100 Wt ¥t %9 & 92 3T ¥ |w§mgﬁuﬁu@m—
(A) 10,000 Q | (B) 100Q |

© I_Q (D) 10,00.0Q

Kirchoff's junction rule is based on conservation of -
(A) Voltage (B) Electricity

(C) Charge (D) Resistance _
forare @ gi fray Hee & fvaw o emafia ¥ 1
(A) e o (By fagm L
(C) smas (D) LIREIE S

Calculate Value of R in the foiiowmg mrcult L

ﬁmqﬁqaﬁrR%maﬁmﬁTm’r—

A 3
v ——
-mg R %
(A) 17.5Q S B 1720
€ 1740 D) 17.8Q

[ PT.O.

5 66 The algebrlc sum of voltages around any closed path in a network is equal to -

.-,__-.ﬁsefrvﬁwﬁﬁmaaw%ar&maﬂwméﬁam F qUET AT B |
) (B) 2
©) 3 D) 0
Iy {5

In the given diagram relatxon between currents accofdmg ) K_1rchoff‘s current -
law is : : | L

ﬁ&gqfﬁaﬁﬁmﬁmﬁsmﬁmqéﬁawmaﬁﬁwa%f
(A)-'i;=f2=i3'=f4 =f5 (B) 1.1+I.3+Il4mi2+l'5

(C) f~is= (D) d+is =iy +5+iy

12 - 13 14

68 A magnetic field exist arround -

(A) Iron , ‘ (B) Copper |
(C) Aluminium (D) Moving charge
T gEmE & Al q% e g ¥ - '
(A) @ % | (B) W % |
(C) wurghtfras & | (D) T HET B
69 Gausss law for magnetism states that the net magnetic flux through any closed
surface is -
Yeed @9l TeE & AW, Wwwﬁ%wﬁwwgﬁuwﬁm
QCUE i
(A) 1 ®) 2
©) 3 D) 0
Es4] 15 [ PT.O.



A 80%
(©) Maximum e SR T e
e '%W%W ﬁwm WW%@Wﬁﬁﬁmﬁawéﬁ— -

(A 80% i -
(C) er&msaq
o (A) Copper
(C) Stee] S
(C) zfra a._ ,- ] B
o
(A) Neutral
(C) Positive T
i gﬁlﬂaﬁﬂwﬁ%ﬁiﬁ)(mm
A e
e .'.-_-(C) HW

"'ihe effect of iron loss on DC generator is - -. -
T (A) Loss ot eff’mency
(O Lo.ss of current
__%"Wi’i Trrﬁﬁ AR ﬁ\% Eﬁ?’r 33 ‘Qtﬂif@f @?ﬁ % =
Ay a7 a?r mﬁ‘f
o (C) K ﬂ% ‘efrﬁf

the generator willbe -~ - i
By 0% #
(D) Mlmmum

C(B) 90%
(D) ﬁﬁm’q

erld LOIIS of DC generatm 13 madf: of - R R U S A
e ®) Castlon
(D) Larbon "

o ® mamrm@r
S (D) Eﬁﬁh@

For dlamagnetlc materlalins LA B S S S Rt
S @ e
: '-._-'_':l"(D) Negative .
e s“raT%’ B
(B) afea

_-'_The unit oi: magnetlc ﬂux den51ty is- e
ST (A) ‘Weber/m2. i |
":'(C) Newton/m s G

: (B) o
_(D) Ampere/m2 -' RS

(B) Loss of voltage

(D) Loss, of 1 ll’OH

(B) f%maa%sr%f
(D) aﬁsa&aﬁf

1 PTO.

7{9 F or a DC generator if ccmsta,nt Iosser are equai to vanabie Zosser the efﬁézency 01_ 75 -;--..':Keepmg ?Oie ﬂux canstant lf the speed Of‘% Sh‘m BC generatar is doubled thm s >

' generated emf -

(A) Will be doubled |
o _-_'.'_“_(C) Wwilt. remain uncha.nged SR

gama%ﬁm?@%gqaﬁwé’f@ awaﬁaa%amgyﬁm%weﬁw&@mm e
VNl e s
: (@) mﬁeﬂ%ﬁaﬁa’m

B '(A) AC gcnerator has an electromagnet while a DC generator has permanent magnei o
g S(B). DC gencrator will generate a higher voitage Lo - RN -
B () “AC generator w111 generate a hlgher voltage. : A
R '(D) AC generator has slip rings ‘while the DC generator has a commutator .
"T.-----'_%é’rqzﬁrrrﬁaamé%@raﬁﬁﬁqm{aﬁamw%ﬁsm o
Ay A Wﬁﬁgﬁgﬁﬁﬁm%ﬁaﬁé@r Erﬁaﬁwr&rgﬁfsﬁm%t o

{B) Wili be halved
(D) Will decrease si;ghtiy

- B Wam
(D} g@ms‘rm

The essentiai dszerence between an AC generator and DC generator is that -

(B) =@ PR Ioa deear ® oA B § L
(C) qa. aﬁamaﬁmmwm%z

© aﬁswﬁmsﬁ%maeﬁ aﬁ%rfrf’c@trﬁaﬂzﬁém% v

: (C) 05

s
. (A) S‘ffay losses .
. (C) Hysteresis losses R
A %v?rrﬁa"fr QWWWWW?‘W@#WW%_ I
1w e e

S (C) %@maﬁm

{A) The motor will stop
{O) The armature ‘may burn - e
1 R aE ﬁmmm&éﬁg&a&wmmm@rma‘rmm .
Ay ﬁaa&s’rw@’ﬁ
L (©) e S we §

ES“’]@ o ) :'1'7'_.' L

The mecha,mcal power developed by a DC Motor is max1mum when the rat10 of back-_ o
- emf / applied voltage is - .

ws—‘frz?r WWW?&HWWW%emf/ﬁgifﬁﬁlﬂawaﬁma@m“;_'ii..f_i
(&) 10 B 30 - SO
(D)_O’?

En a DC serles motor shaft torque is less than the armature torque due to R
- (B) Eddy current losses :

(D) Copper losses

(B) et sl
(D) am%’rﬁm -

What wﬂi happen 1f fahe back emf of a DC motor vamshes suddenly

(B) The motor will contmue tO mﬁ |
(D) The motor will run nmsy :

' (B) At Wy W -
(D) ﬁmmwmﬁ

[ PTO.



8¢  Small DC motor upto 5 HP usually have -

(A} 2 poles (B) 4 poles
(C) 6 poles (D) 8 poles
5 HP @ 818 €3, ey § amrar 6 ¥ -

(A) 2@ (B) 4 ya
©) 6y ®) & g

81 If a 230 V DC series motor is connected to 230 V AC supply, then
{(A) it will run smoothly '
(B} it will stop
(C) it will burn out
(D) it will run with less efficiency and more sparks
afs s 230 V 9, ot MeT # 230 V u.d. v 4 e R wmw ar
(A) °E o™ ¥ galr
(B) us ® sy
(C) w8 e ' -

(D) ﬂaﬁﬁrﬁmamﬁm%waaﬁﬁ

82 The hysteresm loss in a DC Machine least depends on
(A) Frequency of magnetic reversals (B) Maximum value of ﬂux dens;ty
AC) Volume and grade of iron (D) Rate of flow of ventilating air
S i § Rl o &9 Y HW 9T T wEm
(A) YI&Ig Isbavl #t Smghy (B) v =T 1 s qe
(C) @f% &l s 8T ¥ (D) ®aER &= % gaw # 3¢

83 Nature of efficiency curve of DC Machine is -

- (A) First-decreases then increases.  (B) First constant then decreases.
(C) First constant then increases. (D) First increases then decreases.
4. 70 & Tgd 9% B uglt T - ' '

(A) vget oz & ReC e ¥ (B) weet Rax e wem & 1
(C) wewt Rt fpT sgar & (D) e wga ¢ fbe mear ¥ |

84 If ¢ = Asinwt and ey = Bsin{ws—8), then
(A) e lags e; by @ - (B) ey lags ¢ 'by 8
(C) e leads ¢ by 9 (D) ¢ and e, are in phase
afy e = Asinwt quT ey = Bsin{ws~6) ¥,

(A) e, 0 Furmmd ¥ ey A B e, g AU E o @
(©) ‘ez,eﬁ'mﬂ%ejﬁ (D).e,aezih?rrff%ﬁ*r
B4 ] (O 18 [ PTO.

2 ‘ . .
if the mean value of an AC voltage is - volts, then its EMS value is -

85
(A) 28 voits (B) 14 volt
(Cy 142 volts (D) 0 volt

282 N
gz AC fawa @1 afwa @M m%ﬁrmaﬁwww -
(A) 28dwe | B 14w
(C) 142 9w (D) 04

86 1f one cycle of AC occurs every milli second, then the ﬁ'équency will be‘—

: 1 '
— flz B) 50 Hz -
&) T35 (B)
(C) 100 Hz (D) 1000 Hz
aﬁACﬁ@%mﬁaﬁﬁmﬁﬂﬁﬁ@ﬁr%aﬁsﬂaﬁmm
N
.| v
D B) 50 &
(A) 1000 ® b
(©) 100 &5 . (D) 1000 T

87 If the circuit contains only an inductor or capacitor, than the phase difference between
voltage and current is - _
gfe afeay & Had U I otuer duifis & @ 91 @ dieear & 99w oK B 8 -

T

—_ ) B TC
(A) 1 | (B)

I
<€ 5 D 2n
. 2 _

88 A light bulb is rated at 100W for a 200V supply. Eind tﬁe rms current through the bulb.
U Tera ae 200V gy 9X 100W 9t &9 & ferd werar e ® | oo § gafed g e
rms 9T TG S |
(A) -650 A o (B) 550 A
(C) -450 A (D) -600 A

E54 ] () 19 [ PT.0.



89  Two sinusoidal currents are given by ' 92 The current requirement of an LED is -

. P (A LTmA (B) 25 mA
i =10sin (wt—i--é—) . 0 (C) Between 3 and 35 mA (D) 65 mA
o wauw § A % g o o emesasar €] |
i | (A) 1.7 mA (B) 25 mA
) =15sin(wr-;‘-) L S = (C) 3 3% 35 mA & 9w (D) 635 mA
the phase difference between them is : : - : : : ; ;
, , &+ 93 Formation of a junction between a sample of p-type and n-type material causes which action :
& wega wre w gl ﬁrr-’f L . (A) Rectifying (B) Conducting
T ' ' . _ (C) Insulating (D)  Amplifving
l1=105m(wf+-§J . B - Ueh p-YE I n-UH & e % 91 g a9 o7 P A g R e b 0
: (A) Temzard (B) @
_ . ( nj | | () WY (D) wardy
. I =15sin| wt—— : .
N ‘ 94 When a semiconductor in heated, its conductivity :
T EI?JTSO” AT E - o ‘ (A) Increases (B) Decreases
(A) By 75 ' : : - (C) First increase then decrease (D) Doesnot change
(C) 150 (D) 60° | Y s SrgaTed Bl T fRuT S § ) wey gk
90  For an alternating voftage, form factor is : - - (A) wodl & (B) Wl ® Y
, , (C) usa ol & fpe wedl 2 (D) SEiae e §
@ RMS value _ Mean value
Bl B) ———— v
. Meanvalue RMS value 95  This gate is also known as inverter. ,
‘ ' (A) AND gate ' - {(B) OR gate
© RMS value o) Peak value (C) NAND gate | (D) NOT gate
Peak value RMS value T§ T Iohdd o1 wia@e WY s &
vyeadt e % g ww o B | (A) AND 2 (B) OR ¥
C) NAND 2 D) NOT e
(A) il G ®) 3iFd H © ® N
' dl Eifl' HH ' . Al SO 96 Which number system has a base of 16 ?
AT W@ oA | - aftran o= {A) Decimal {B) Octal
© —37 p— D) “mmen - Tm (C) Binary (D) Hexadecimal
i S AW 3% TSl B AR 16 TR E 7
(A) BT (B) atfad :
91 Full form of CRO is - Lo ; wererrs s
(A) Cathode Ray Oscillator’ ~ (B) Cathode Ray Oscilloscope o ©) _ .. _ ®) \
(C)  Capacitor Rf;mtor Oscillator (D) Capacitor Resistor Output 97 Maximum number in decimal that can be represented by 4 bits (binary) is :
CRO &1 901 719 & : - o Ta-oi et ¥ 4 feg g WlR afiwan T wew § -
(A) FHaE fFor difes - (B) HuE fprer Sifesmd . (A) 4 : (B) 7 -
(C) wufew uﬁiﬁw et (D) wuif wRadwe et - (C) 15 (D) 16

E5¢] O 20 | | [PTO. | E54] ( o | { PT.0.




58

99

100

A nibble is equal to how many bits ?
- e F et fremdedi ¥ ¢ |

&) 1 ® 2

© @) 8

In AND gate the output of gate is 1 only When mput A and mput B are both
'AND%#%W%WIW%WW%@TA@T%&TBM - F
(A) 0 _ By 1 o -

(&) 2 oo (D) 3

Ina transformer the copper loss at half load as compa.red to copper Ioss at full load
will be : . L ' -

(A) 4 times (B) 2times -

(Cy Half : (D) One fourth S
qmv&m&maﬁ a@wwmmmwmwwmﬁwﬁﬁﬁ

(A) 4 f[UTr L By 2en

(C) st (D) i a"f%ﬂfs‘

Wthh of the following transformers Wﬂ} be largest in 51ze ?

101

- 102

103

'ﬁwﬁéﬁn—ﬁwﬁmﬁamma&wm? RN
(A) T kVA, 25 Hz. o - (B) 1 kVA 50 Hz .
(C) 1kVA, 60 Hz‘_ (D) 1 kVA IOO HZ

If thé'secc‘)ndaxy coil has a greatér n’umb@r_ of tu_rn’s th'a_n_t_he' primary coil, the transformer
(A) Step up- ~(B) Step down AT
(C) Normal - (D) Auto transformer. - B
| aﬁ%ﬁwwﬁrmm@ﬁﬁmﬁ%ﬁrwmﬁt%t
(A TS By el
O © ©) @ RE
Fbi" unit.transformer high' {foltage must be . | R
= '(A) 400 kV - - (B) 200kvV
- (©) 24kV (D) 100 kV
B4 2

1106
- (A). Summer

3 107

(A) i &

© qa—cﬁa&mﬂam'

104

The ﬁmctxou of conservator in transfomner i

(A) To prevent flow of moisture into the tank

(B To prevent ﬂow of air into the tank

i (C) To take care of expansion and contraction of 011 in tank
oDy Te unprove power factor : :

- afyenf ¥ wTieT @ e EiGil %

C(A) ¥ X andar e wY Qe

L (B) e X g ware @ v s

(O %mﬁaaa;mamwaﬁﬁmam

i (D) G grﬂn?a Eﬁ‘r gar{?ﬂ : _

. 5 The fact that a transmlssxon conductor carries more current on the qurface as compmcd _
- to eore, s known as | S

0 (A) Skin effect

¢ {(C) Ferranti effect o : = o
S wmaﬁ%wﬁww%ﬁﬁwﬁ mwmaﬁ‘r% t{ga@z

(B) Corona :
(D) Unsymmetncal fault

HEART S —

(A) ﬁ%’[ IISTI?{ - (B) BT

(C) ﬁ?{?ﬁgﬂﬁ o (D)amﬂﬁiﬁif’rq _
'The chances of corona in transmission hne are maximum during :

__ {B) Winter _
(Ok Dry weather : (D) Humid weathe
GO T N B a%“f worern 9g Wl % -

(B) et o |
(C)q@awawr‘-r (D) o T ¥
Under no load conditlon; the current in trarismission line is due t{ﬁ_ R

(A) Corona effect - " (B) Capacitance of line
(C) Back flow from Earth =~ (D) Spinning reserve
dereer w3t ¥ W) e orweT ¥ OTQq weE W eRm E -
(A) ®IOW wog (B) @ @I afan
(D) Refir frrd

3 The matema} commoniy used for msulation i hzgh veltage cable is: "

i (A) Rubber_- - (B} Paper

S (©) Lead ' @y fIron '
--_f'-i'wér%m%aawﬁﬂ@rm%ﬁwmﬁrwuﬁﬂaﬁaﬁmﬁm% ~
CA) e . ' (B) I

' :'_:(C): Kl o (D) wE

[ PT.O.



118 Which distributxon of power system 1s most rehable 9l

'113_' Breakmg capamty oi an A C. c1rcu1t bredker is usually expressed in terms oi

(A) Amperes (B) Volts -

) MW (D) MVA Lt
. AC Wﬁqaﬁmﬁ%ﬁaﬁmmmaﬁm% I
(A Ry By @EF

€ MWH

B4l S u

109 A line which connects between substation and distribution transformer is known as :

(A) Primary feeder (B} Secondary feeder

(C) Transmission feeder = (D) Sub transmission teeder__ o
IR B RaTer qRenf § Sisy @l e weaEr ¥ o |
(A) W Bt (B) fudrr e

© wm Hret (D) Y He qﬁa

(A) Ring main system By Tree %ystem o S
(C) Radial system . (DY Tree and Radzai both systems -
ﬁmﬁaﬁw@rsﬁafﬁawwﬁrm%&awﬁa%? | o |
(A) ﬁﬂﬁﬁ'%ﬁf’c‘f R (B) ffq@%r

(C)‘(%‘qﬁq@i%r (D);”ra%%aaaﬁrw%m

111 F he dxstr:butors for resudentlaf areas are — - o
(A) 3 phase 4 wire (B) 3 phase 3 wire
(C) Single phase S (D) Double phase o
'Waﬁﬁi%ﬁﬁw%—f :
(A) 3%w 4amw
© T ‘ﬂﬁﬁ

(B) 3&7@{36@1
(D)a‘twﬂwr

112 As compared to a2 Wire-DC dlstrlbut()r a 3 ere dlstrlbutor w1th same mammum

| voltage to earth uses onIy
- (A) 31.25% of copper _

g (B) 66'7% df cbpp‘ef' &
(C) 33.3% of copper

D). 125% of copper*
pp

| mﬁfﬁrﬁmzﬁw% Wg&ﬁasﬁa&mfhwm%swaBWW%ma

WA T Y~
(A) aréfaa"rsws% |
(© __arér_m 3_3.3_%

(B) ar%:wcss?% F
_(D) ar%esrlz_s%__.--

(D) MVA®

{116

14 Durmg arc ex‘tmctmn n SFé circuit breaker the gas :
H{A): Decomposes into S andf ions
(€Y Gets oxidized :
SF, after frdiors ¥ orb-em % A, o |

(A) ST emre ¥ Rafea Wi & 1 (B) SmeSF,ﬁﬁaﬁaﬁaﬁ% 1
-(C)a?ramRﬂmﬂr%“fm%r S

(B) Decomposes into SF, and SF,
(D) Reduces to Sk;

(D} Szrﬂaaaaﬁr% .

Alr used in air- blast circuit breaker

: (A) mus{ have Ieast carbon dioxide

(B) must be ionized

~{C) must have oil mlst

(D) must be free from mmsture

| oy e afy fdv §, @y ST
T (A) ﬁﬁwmﬁaa@wﬁa@q L
(B) snagd B TR |

C(C) H FmEeT BT Ui 1.

7

Wﬁgﬁﬁaﬁﬁqﬁlﬁm maﬁw -
| @) |
i © %@ﬁaaﬁ

(D) ﬁ.wﬁmaﬁﬁﬁrar%q s_"

An 1deai c1rcuzt breal\er should offer o

(A) Z ero and infinite impedance before and after mterrupnon reqpecilvely
(B) - Infinity and zero impedance before and after interruption respectively.
(C) Equal impedance before and after interruption.

(D).~ Zero impedance before and after interruption.

U el iy feew %1 e el ald -

(A) e Wﬁﬂgﬁmmﬁaﬁeﬁﬂcmm
(B} @ Wﬁﬁﬁ%ﬁmﬁﬂfﬂm
(C) ®wae & uew & 9§ § gure whirsmen
(D) %o ¥ uewt ot 918 & g Wi

'As temperature rises, the resistivity of insulation of cable -

(B) remains unchanged
(D) decreases exponenually

(A) increases linearly ™
(Cy decreases lincarly

(B) omfafq ol
(D) wma?rw@rtrévﬁ

8- In underground cable the voitage stress is maximum at - .
7 (A) Core of the conductor S
(C) Sheath . : :
_-__ﬂﬁ%mmﬁmammﬁwﬁm%
(A) Tw H BT U

(O hww

(B) Surface of the conductor -
(D} Armour :

(B) ATE B TEE G
_(D_) aw:hqr_ '

| PTO.



(A) aﬁa B

A e
O ﬁaﬁ@,ﬂ = @,
e iZZ 5 132 kV AC voitage can be measured by —'-:Z '

S (B) Moﬁng coﬂ voltmeter :
(D) El ectrostatic Voltmeter g 0

_?19' Foz underground cab es the depth of trf:nch is. usuaiiy

SO ('\) 10 to 15 ¢cm s e (B) 20 o 30 Lm
@Yy 60 M0 em (D) 120 to 140 cm S
S %ﬁ?ma ¥t % forg. ?:cﬂé (?E a?r Tr%‘{lé *ermma TR o
oAy oIS e (E} '>o é‘ 30@1&%

(C) 60@"70'{911:?(

U120 %mgie core cables are. usually not prowded mth S
0 (A) Sheath o
{C)  Rubbeér msulatlcm e
'*:'-ﬁi'waﬁiéﬁra ¥ A W?@rm%
e B m e:lﬁﬁn
(D) ﬁw ﬁ%‘f&m

(B) Steel armoumngi_:i_? SRR

o1z Dampmg torCIue in mstruments is generaiiy not produced by Bl e 127 thch of the mngwmg genera.tmn station has minimum runmﬂg COSt 7

L (A) Pneumatlcally

S (B)- Eiectro magnencaﬁy
e (C) Electrostatlcaliy

E (D). by fluid fr1ct1on fi
i %WH@?W Wqﬁmm% b
(B) E‘El?ﬁﬁ w @r
(D) "ﬁ_cr 'ErEfUT_gm B

: (A Movmg iron Vo!tmeter
" (C) Hot wire vol‘tmeter

132 KV AC Rw F?b?r %
S (A) T AR Dy @r

e (B) aagmﬁa‘mﬁa%
'_'-_-T'_(C) ﬂﬁmar?ﬁ’!zr%

(D) ﬁaﬁgaa‘rﬁﬂ?ra‘{%

e }23 A IOO‘V voltmeter has an accuracy of S% on full scale The percentage error whxief;'f‘_ o

' measurmg 50V will be':

w0 @ a‘mﬁm ﬁ tng ﬁmﬁ tR" gzm 5% % l 50 eh Sl *CR sri%ram gﬁ: %‘fﬁ’r

@A) 25% e B) %
i : .:'_::-: (C) 7 5% ; | | . :..; - (D) 0%

'I._;Zéi-:A power factor meter has T :
o (B) two control sprlngs

- "(C) ‘onie controI sprlng _"'_(D) No control sprmg

.~ sr%ﬁwlﬂaﬁﬁé’r% .
@) e R o (B) @ P R
_.'}-.:_-(C) iy W ﬁ%ﬂ o -i_':_.'(D) aﬁs‘ fta ﬂ’sm :rz?r

§25 A meggar 18 i L L

(A} Movmg mm type mstmment
(C} Hot wire mstmment
e r e E

(A == ﬁ*g W af zﬁ
(C) Tﬂ:‘f ?fr{ trsr

(A} Enduced draft fan
() “Electrostatic pmmpltator

aﬁﬁwﬁ'g@%éﬁaﬁa@mﬁmwﬁ%ﬁmmwm%

(A) W g e
{C) ﬁaﬁgﬁﬁww

(A) Nuclear
(C) Thermal-

| . (B) Movmg Cj.'f?ﬂ. ij’p*é '-iﬁ_stm'meﬁ_tf o S
S i Dy " E'ie'ctr'diyﬁc - ii}Sifumer’iiﬂ Lt

:'_.'{B) T @'é?*ﬁ a?m Lol zrsr .
'(D) &@H amaa?ﬁu a‘ss

e .fj._. : mﬁ The eC{uipment mstalied in p@wer plant to reduce air poiiut;on d;ae to. SH}OK@ ES | L

(B) Superheaier
(D} Reheater -

By aﬁﬁw s
(D) gaarqas R

(B) Hydro
(D) Diesel

ﬁwﬁ@awmm@ﬁwwﬁm%—-

(A} qrﬁaa?ra
(C) ws:?m

s advantageous (R
(A) Wave power
- (C) " Tidal power

ﬁmﬁmﬁwaﬁa—amaﬁaww@amwm%ﬁmmasm% ?

(A) agr sn%ﬁ
(C) v—:m: sﬁ%ﬁ

129 Hydroelectrw power piant is —';.'.
A{A) Non-renewable souce of energy
By Conventmnal source of energy O
(C) Non conventlonal source of energy_- TR
(D) Contmuous source of energy '

(A) mmﬁtﬁwﬁn@a
- (BY w&quﬁmaﬁa
(C) wﬁmﬁiwwf’taaaﬁﬁ
(D) mhmﬁ'(ata‘m

(B) -
(D) é’ﬁﬁf

i 128 Whlch of the iollowmg method of generatmg electrlc power from sea water is more_ .

(B) 0cean curre'nts

(D) Nuclear power

(B) wgd wrad
(D) wng sﬁ%ﬁf



130 Which of the followmg is not a reqmrement for site selection of hydroe ectric’ powex -

plant 7 _

(A) Availability of water ' (B) Large catchment area' '

(C) Rocky land - : o (D) Sedimentation -
ﬁw&rﬁaeﬁ%aﬁwmm%mﬁw%mw%%quawﬁ% P
(A) Y @ umer ' (B}@%W%ﬁ :

(C) ‘qaﬂe?r Gﬂfﬁ' (D) aasz :

131' Wh1eh of the foilowmg has hxghest moderatmg ratio 7 |

(A) DO - (B) HyO

() Car’oon _ : . (DY Hehum
| frfafad & & Regar aﬁ%maaq WP{W GT:,NTH e % T
A DO | “(B) Hy0

(C)__ ?h‘rsﬁ ST ® e“rf%ﬂw

. kv When the eontrol rods are mserted mto the reac‘tor K (Mulnphcatlon faetor) becomes -

] m%w%ﬁﬁﬁmﬁ@armw%eﬁ&(wm}asrm#%ﬁmar%—

W B >l
© 1 FT N (D) <t

3 _ 133 Honzontal axis and vemcal axis are types of whlch non conventlonai power plant 75

(A) Nuclear plants (B) Wind mills

(C) Biogas plant (D) Solar cell = . S
fufrsr 7 Sty meﬁaemﬁmﬁaﬁﬁm%ﬁm% ? e

(A) Y T e (B) O e

€y maﬁam (D)@Rﬁﬁ

134 A module in a solar panel refers to~ -:- R
' (A) Series arrangement of solar cels -
(B) Parailel arrangement of solar cells
(C) Series and parallel arrangements of soiar cel s
' (D) Radial arrangement of solar cell - |
U we G F wregw P HLT &
'(A) Hﬁmﬁ&rﬁsﬁvﬁmﬁ? T
By ’a‘m “?iﬁ B SEINIL - 2ok [0 S
(e Wﬁaaﬁavﬁamwwmaw
(D) Fﬁm@aa?r%mamwaww DR

'136 Full formt of R s

135 Which of the follewmg area is preferred for solar power plants
(A) Coastal areas L (B} Hot and arid zones
(C). Mountain tops areas (D) High ra1n§eli lones_
ﬁﬂﬁﬁﬁ%ﬁ%ﬂ?ﬁﬂ%ﬁ"&ﬁ%ﬁﬂ@%ﬁ% ?
S (A) TEEmaE - ) (B) nﬁasgcem?m
(C) Hé?ﬁ*q %?{ (D) ged aul &’H

(B) Earth lockmg eircmt breaker '

fytic cirouit breaker o
L Electeoly (D) E}ectrlc Ieakage circuit brea_ker =

" (Cy- Earth leakage circuit breaker '
'. ELCB® qQuam & —
(A) FARRRS Ffhe THT
(C) aiaf zrﬁaw eﬁ‘sz érfm: -

(B) aﬁw%ﬂqﬁa‘éam
(D) sﬁﬁa‘cﬁﬁﬁﬁﬂﬁ%‘"aﬂ?{

o 137 For a 2.0 Ton air condltloner, WhICh wxre size is sulta.ble ?

-wzoamwsm%%qﬁw%%ﬁe—mmmwew%
(A) 1.5 mm2 S ® 1{)mm2 |
© 20mm2 ™ 4_0_mm o

138 Whlch devu:e is used as a safety device 92 ‘ _
(B) Generator N

~(A) Motor

(C) Fuse | (D) Inverter .
ﬁﬁﬂgﬁmﬁrmﬁgﬁﬁﬁmmﬁﬁmm% ?

(A) A . (B) s

(C) wgﬂ (D) FIT

139 Fuse wire should possess -

(A) High specific resistance and high meltlng pomt
~ (B) High specific resistance and low melting point.
~(C) Low specific resistance and low melting point."
(D) ‘Low specific resistance and high melting pomt o
RIS A % OrE S e - - o
(A) W%ﬁmuﬁrﬁuammmfag

(B) e Pafre wRQe e B e {3
) ﬁrﬂﬁlﬂmuﬁ\ﬁaawﬁmwmﬁg

| (D) ﬁwfﬁﬁmu&iﬁawﬁw%@

140 Stalr—case erlng uses :

 (A) 2one way switch " (B) liwg way sw1tch
(C) 3 one way switch - (D) 2 two way sw1tch
é’tﬁm’r b1 arartT A ‘;I'iﬁ‘T ﬁ?ﬂ %’ _
() 3 o 4 R '(D)Z{—%ﬁiﬁl



141 Which type of wiring is recommended only for temporary installation ?

{A) Cleat | {B) Caping casing -
(C) Conduit : (D) Baiten
ﬁm%%aﬁw—*&ﬁmﬁnmm%ﬁm:wgaﬁ% ?
(A) whe - (B) R Higy
C) wasg (D) sz
142 In electric wiring, all electrical equipments are co‘n'n.ééféd in -
(A) Parallel - (B) Series = -
{C) Series-parailel (D) End to End E
P arafon & o Ry s e @ .
(A) o ¥ (B) Ay
© FhwmE @) fed m-_ﬁ‘{ e
143 The heatmg element in an electric iron is usuaHy made of =
(A) Brass. (B) Iron .
(C) Nichrome . (D) Platinum
Eﬁsﬁﬁ'@wﬁaﬁmaﬁmwwm%—, i
(A) e ®) @ra

(C) -3 @&t (D) q?fféqqa,—,

144 Ina ceﬂmg fan capacitor is connected -

(A) In series with supply (B) In paraliel with supply

(C) In series with starting winding (D) In series with running winding

TE B & U9 i Er far ¥ - L
(A) wwrd % 9o ¥ (B) wem % wwwraR ¥
(C) wifén awgRer % ok & D) BT afET ¥ Ao &

145 Which part of microwave oven generates microwaves ?

(A) Generator S 3 {B) Magnetron

(C) Metal mesh S ' (D) . Booster

wﬁaﬁﬁaaﬁawmﬁvwmmméawm% 7

(A) st | | - (B) ww2N

() @ e D) T
Es4 1 () o 30

146 Which type of motor is used in pump of domestic water cooler ?
(A) Shaded pole motor (B) Repulsion motor
(C) Hysteresis motor (D) AC series motor
g e FAT F 7 F BTG A WE W ¥ 7

(A) 933 9w AT - (B) frowew =i
© %@%ﬁmzﬂa : (D) T A AT
147 What is the ‘amount of charcoal and salt needed for GI pipe earthing ?
(A) Charcoal 5 kg, salt 8 kg (B) Charcoal 10 kg, salt 8 kg
©) Charcoal 10 kg, salt 10 kg (D) Charcoal 5 kg, salt 5 kg
Glm'afﬁﬂﬁanaﬁaﬁmmﬁrww@?ﬁ%? ‘
L (A) 5 Tem areEr, 8 e e (B) 10 Rewr =it 8 fobun e

(C) lofésmaﬂ-oﬁra 10 Rew s (D) 5 fewn areeE, 5 faur T=®

148 What should be the value of earthing resistance for large power stations 7

(A) 1 Q B) 05 Q
€) 2 Q | D) 5Q
% Feg faewell wan % fag affn oRde &0 w0 = e gy 7
(A) 1 e | - (B) 0.5 W
(C) 2 @im (D) § aim
149 Earth wire is.connected to the -
(A) Ground . (B) Phase
(C) Neutral ' (D) Power house
I-gHd AT e S ¥ .
(A) wd (B) % &
(C) nigﬁ qa : (D) W Ted @r

o 150 The size of earth wire is determined on the basis of -
(B) Current carrying capacity of hne

(A) Voltage of service line

- (C) Atmospheric conductor

| aéwmﬂmwaﬂmwﬁrﬂfﬁﬂwﬁ%

(A affm wEw % R W (B)Wﬁwmmw
(O iCiioicice (D) Tg H STOSIEr 9T

(D) Frequency of supply

Y
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